9.3 Measures of Center
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EXAMPLE 1-> Finding the Median and Mode
Find the median and mode of the bowling scores. e
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Find the median and mode of the data. ~ 7
1. 264717642 . 2. 108, 75, 90, 80, 110, 102
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EXAMPLE 2-> Finding the Mode Favorite Types of Movies
The list shows the favorite types of movies for students in a class. Comedy Drama  Horror
Organize the data in a frequency table. Then find the mode. Horror Drama  Horror
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One member of the class was absent and ends up voting for horror. Does this change the
mode? Explain.
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14y | EXAMPLE 3->Choosing the Best Measure of Center
%5 | Find the mean, median, and mode of the sneaker prices.
- ¢ ¥ Which measure best repres‘é’n&s the data?
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EXAMPLE 4-> Removing an Qutlier
Identify the outlier in Example 3. Find the mean, median, and mode without the outlier. Which

measure does the outlier affect the most? o \\ "
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The times (in minutes) it takes six students to travel to school are 8, 10, 10, 15, 20, ana\z P

Identify the outiier. Find the mean, median, and mode with and without the outlier. Which
measure the outlier affect the most? "\ e ook \ic ¢ s Y
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EXAMPLE 5-> Changing the Values of a Data Set Viﬂx Game

The prices of six video games at an online store are shown in the table.

The price of each game increases by $4.98 when a shipping charge $53.42  $35.69

$18.99 $25.13

is included. How does this inc\rease affect the mean, median, and mode?
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What is if the store decreases the price of each video game by gé. How does this decrease
affect the mean, median, and mode?
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